
S
u

b
je

c
t 

to
 c

h
a

n
g

e
 w

it
h

o
u

t 
p

ri
o

r 
n

o
ti
c
e

MC Series Enclosed

Basic Switch

   KAP COMPONENTES ELÉTRICOS Ltda.

R. Carmo do Rio Verde, 78   S. Paulo - SP   04729-010   Phone: (+5511) 5645-4444   Fax: (5511) 5641-1486   e-mail: kap@kap.com.br MC1Rev. 09

Specifications
Maximum Rated Voltage 250V~  50/60Hz

Maximum Rated Current 16(3)A (16A resistive load or 3A motor load power factor not less than 0,6)

Contact Resistance 50mΩ  maximum initial  (at 1A  5Vdc)

Ambient Temperature +85°C maximum

Degree of Protection (IEC 60529) Mounting Bottom ø5,3 or Side ø5: IP44 types C, S and Y; IP54 types X and W

Mounting M4x40: IP40 types C, S and Y; IP50 types X and W

(with cable gland assembled; cable gland with IP equal or higher than to those specified)

Operating Speed 0,05mm/sec minimum to 1m/sec maximum (at pin plunger)

Mechanical Life Expectancy 1.000.000 cycles

Electrical Life Expectancy      50.000 cycles

Materiais Enclosure: Painted Zamak

Plunger: Nickel Plated Brass

Lever: Zinc Plated Steel

Changeover circuit rating 16A

Internal M3 Series basic switch

Painted metal enclosure

Side fixation or by bottom flange

Long life mechanism

Plunger and adjustable lever actuators Circuitry

12

14

11

220°

R
4
1
,0

ø7,9

O
P

O
P

O
P

Ø
18,5 x 8,0

ø7,9

O
P

ø12,0 x 3,4

7
2
,0

7
0

Dimensions (in mm)

Mounting Actuators

Type C Type X

Type S1 Type W

Type S2 Type Y

5
4

,0

4
1

,0

ø5,3

1
4

,2

M4 x 40

2
5

,0

Bottom ø5,3

Side ø5

Side M4x40

À Screws available only for side mounting M4x40

23,3

25,4

4
6
,5

1
4
,5

2
6
,0

20,0

1
9
,0

O
P

Ø
5,

0±
0,

2

1,0

2
1
,5

P
g 

13
,5

62,05,0

80,0

À



S
u

b
je

c
t 

to
 c

h
a

n
g

e
 w

it
h

o
u

t 
p

ri
o

r 
n

o
ti
c
e

MC Series Enclosed

Basic Switch

   KAP COMPONENTES ELÉTRICOS Ltda.

R. Carmo do Rio Verde, 78   S. Paulo - SP   04729-010   Phone: (+5511) 5645-4444   Fax: (5511) 5641-1486   e-mail: kap@kap.com.brMC2 Rev. 09

rotautcA
xamFO

)fg(
PO

)mm(
xamTP

)mm(
xamTD

)mm(
nimTO
)mm(

C 004 2,1±5,36 7,0 51,0 2,4

1S 004 5,1±0,57 7,0 51,0 7,3

2S 004 5,1±0,57 7,0 51,0 7,3

X 006 2,1±0,96 7,0 51,0 2,4

Y 006 elbatsujda - 4,0 0,6

W 006 elbatsujda - 4,0 0,6

Ordering Information

M C 4 C

Characteristics

Terminology: OF....Operating Force DT ... Differential Travel

OP ...Operating Position OT ... Overtravel

PT ....Pretravel

Series
Actuator

Plunger = C

Protect Plunger = X

Roller Plunger = S1

Cross Roller Plunger = S2

Adjustable Roller Lever = Y

Adjust. Roller Lever with Protect Plunger = W

Mounting

Bottom ø5,3 = 4

Side ø5 = 5

Side M4x40 = 6

Cable Gland

(See Catalog ZA)


